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Section A is compulsory
Attempt anyfour questions ftom Section B

Section A
(a) Give one word answer for the following: (l x 5)

(i) A feature to handle runtime errors
(ii) Superclass ofall the classes defined in Java
(iii) Multiple inheritance can be implemented using

them
(iv) The toolkit to provide graphical user interface
(v) Which feature ofJava makes it secure and

platform independent?

On compiling the file having the following two classes,
how many files will be creared and wha] will be the
name(s) ofthose file(s)? e)
class A {

int x = 10;
i
class B {

public static void main(String args[])
{

P. T. O.
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A a = new A0;
System. out. println (a. x) ;

)

)

(".t Differ€ntiate b€t\r cen the following: (3x2)

(D init0 and start0 methods ofthe Applet class
(ii) checked and unchecked exceptions
(iii) java apph. ation and applet

((l) Out of the following two if statements, which one will
throw an exception ifvalue ofn is l0 and ofd is 0; and

why? (2)

if(d!=o&&n/d<=1)
System. out. println("n/d (= 1") ;

if(d!=0&n/d<=1)
System. out. println ('nld (= 1') ;

(e) Write the mathematical expression in Java for:

x= -b+ b2 - 4ac

2a

(f) What will be the output of the following statements?
tlx5)

(D System. out. print In ("Try this " + 1+ 4)i
(ii) System. out. println(3 & 8 - 2) ;

(iii) Systern. out. println(0B11010) ;

(iv) System. out. println (-l))6) :

(v) System. out. println("He1Io WoridM'. sub

strins (3, 7)) ;

(g) What is the KeyEvent class and what are the thrce eventr

associated with it? Give one example of a key when
pr€ssed results in:
O all the thrce events
(ii) two events only. (2 + l)

(2)



t.
For each of the following statements mention whether it

is con€ct or not. Justifo your answers' (6)

(i) i = a:

(ii) a = i:
(iii) i. set (1. 23f) ;

(iv) i. disPIaY 0 ;

(v) a. set(l.23f);

(vi) a. disPIaY 0 ;

7. What will be the output of the following code segments?

(a) enun llango {

Alphonso (too), Langra (80) ' Dasehri(90);

Private int Pri ce i

llango (int x) ( Price = x; )

int getPrice0 { return Price; }

I

class enumDeno {

public static void rnain(String args[]) (

for (Mango x : Mango'values0) {

Svstem. out' print (x' getPrice 0 ) ;

SYstem. out' Pr int 1n
(" " + x.ordinal 0) (

)

)

tQ)
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(h) Consider the following code segment:

class A{
void fn (int . . . v) {

for (int x:v)
System. out. println (x) ;

)

void fn (boolean . . . v) {

. for (boolean x: v)
System. out. println (x) ;

l
void test 0 {

A a=newA0;
a.fn(l,2,3);
a. fn (true, fal se) ;

a. fn0;

)
l\(

/ / li.ne I
// line 2

// line 3

l

Out of linel, line2 and line3, which one(s) will give an
error and why? (2)

(i) For the following code segment, how many times does
autoboxing and autounboxing take place in.. linel and
line2? Explain. (2\.

(
int i;
Integer I = 12;
L _ L / JI

line 1

l ine 2

I
( (,) What is the function of run 0 method of the Thread

class? (2)

(k) Write the statement(s) in Java to cr€ate a two dimensional
array that has 3 rows. Row I has 3 columns, row 2 has I
column and row 3 has 2 columns. Also write for-each
statements to print this anay. (2 +2)

String a ='abc", b = new String(a);
;;.;;.;rt. println('a --= b" ' + (a == b)):

System. out. println ('a' equals (b) :

+ a. equals (b) ) ;

I

(b)

(2)

t

/
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Section B

Define a class Person having name as its private data
member. Create a subclass Student from person that has
a data member marks. Create another subclass Employee
from Person that has additional data member salary.
Add the relevant methods in the classes to read into the
values of the data members. Use dynamic method
dispatch concept to display the contents oi the subclasses. ,

(s) I

IdentiS the errors in the code segments given below:

++(i + j). (l x5)

interface I {

char c;
void display0;

)

x = x;

, System. out. print (x + - *) 
:

l
publ i c static void main(String

x a = new x(lo); 
aresU) {

, System. out. pri nt (a. x +. ,);
I

6.
(a) Write. a. program to cneare a child thread. The parenrthread should read an integem fil;;;;"J;,;;:child thread should then r

T}," pu.",i-tiffi".i:;,;"'" all the odd numbers till n'

the work. wait for the child to complete
(4)

(b) Consider the following code segment:

interface I i
int x = l0;
void display 0 ;

l
class A implements I {

float fi
void set(float F) { f
public void display 0

System. out. print l
)

)

class Demo {
public static void main(Strinc arss[]) iAa=newA0;

I i;
)

)

(a)

(b)

(D

(ii)

t,)

I

J-

(iii) final class A {
float f;

)

classBextendsA{
char c;

l

(iv) String s =
s[0] = 'i' ;

(v) class try {
void fn (int x) {

System. out. print ln (x) ;

)

void fn(int x, int y) {
System.out.println(x + " + z)i

l
)

Face :

{
n (x + - " + f);

7.

2.

)

(

I

I
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3.
(a) Design a class named.Baot having title, authorName and

yearofPublication as its private members. Here,
authorName is an object of the class Name that has
firstName, middlelnitial and lastName as its private
members- Assume appropriate data types for the instance
members of the classes. Define methods to read the data
for objects of Boo& class and override tosting| method
to print the details of a boo'k. (main() method not
required) (5)

O) Consider the following three files:

File: Ajava
package X;
public class A {

int i i
)

File: Ajava
package Y;
publ ic class A i

float f;

.Java

package Zi
import X. *;
import Y. *;
class B {

publ i c static void main(String
arcs [] )

A a = new A0;
l

)

What problem will come on compiling file Bjava?
How can that problem be solved?

Fi
)

E:B

(i)
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(ii) What should be the names of the folders/directories
to store these three files? Assume that the name of
the parent folder is home.

(iii) What command will be used to run the program
assuming that the error has been removed and file
has been successfully compiled? (2 + 2 + l)

4
(a) Write a method int mylndexof (String str, char

ch, int startlndex) that r€tums the position of the
first occurrence of char ch in the string str and

startlndex is the index from where the search begins.
. The firnction should retum -l if not found or if the

startlndex is greater than the size of the string. Donl
use the library routine IndexO(). (4)

(b) Explain the Delegation Event Model for event handling.
(3)

(c) What are the two ways a thr€ad can be created? Which
one should be preferred and why? (3) .

5.
(a) Create an applet named mouseDemo to show "Mouse

Pressed" in the status bar of the applet window when the
mouse is pressed. Also write the applet tag required to run
this applet. (4)

(b) Write a program to display the contents of the file whose
name is passed as a command line argument to the
program. (4)

(c) What is the output of the following code segment? Justi$
your answer, Q)

class X {

int x = 20;
X(int x) {



(c)

9.

class A {

. intx=12;
A(int y) {

System. out. println ("In A with s

= " + s)i
s = 200:
x = y;

)

staticints=10;
static {

System. out. println ("In static") ;

s = 100;

)

public static void main(String arssU) {
Aa=nevA(34);
Ab=newA(45);
System. out. println(a. s + " " + a.x);
Systen. out. println (b. s + " " + b. x) ;

),u,
(d) class Deno {

static void test(int a) {
try (

if (a > 10)

throw new ArithmeticExcel:ton., 
.\ uemo ./ '

System. out. println("Normal exit") ;

)

catch (Ari thmet icExcept ion e) {
System. out. println (e) i
throw ei

)

finally {
System. out. println ("In aes I method

for a = " + a);



)

t0.

public static void main(String argsU) {

trv {

test (10) ;
test (20) ;

l
catch (Exception e) {

System. out. println ('Caught-) ;

l
)

(3)

t

)

1400

)


